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Differentials
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differentials are useful notation
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Intro to thermodynamics
-

Ch3

Thermodynamics -motion of heat

wanted to produce work

Developed way
before atoms established



Majorconept Equilibrium
" State

"

of system is constant

keyidea_ divide universe

system ← want to study

everything else
" bath"

(boundary) -
" thermodynamically negligible
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System - bath coupling via boundary
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isolated

N molecules inside

(NA , NB , - . . )
fixed Volume

l if =§
" isolated " not connected to any bath

consequence :



molecules follow newton's equation

⇒ energy is constant
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what can we change ? "
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but enoy can flow



Atowedchanges
dq=0 adiabatic - no heat passes through

def-40 dia thermal - heat passes

/ |☒%?
is system
" insulated
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Eq . is when Tinside
= Toutside



DN =0 closed

dN -40 open¥¥÷÷÷÷: .fr.A
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dia thermal

number of molecules charges
until µ ← chemical potential

µin= µout



Volume can charge
auto isobaric

same pressure

dN=O

dq=O dv=o Iso choric

same space

Equilibrium piston moves
until pin side =Poutside
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copy of system
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T 2N , 242E
intensive

don't change w/ system size



Ntv ← density

Ew ← energy density


